o
[N

<0 > (rad)
o
o [
[ [¢)]

.............................
.............................

iy

W[TTTT T

-2

-1

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

o
TIT T[T I T [ TI T[T [ TT T[T T T TrTI[TTT

...........................................

ey

0.95!

W[TTTT T

-2 -1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

100

(23 e ]
o O

< 00, > (M)

N
o

20

8

RatioI

[y

Eo- |41 : R S
E g ; : :
— - 4 -kl § P | T
| B | B
OF |7 i BN | A
o B | | B
= . L a .
el ) A1 SO
el i ) A1 SO
I )| Jf | (1 R P 1 P T P P I Y

0.95

W

-2

-1

0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

E L L G L
1
3 2 -1 0 1 2 3

TP n (PCA- to beamline)

= 100

RatioI

iy

0.95

W

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


